SPECIAL MEETING NOVEMBER 16, 1992

Vice President Ditzler called the meeting to order at 11:00 AM with all of Council present except Mrs. Simpson and Mrs. Gustafson. Also in attendance: Mayor Linn. Don Oyler. Frank Leber representing Rhoads & Sinon, James Tricolli representing Butcher & Singer, and Tracy Lower representing the Times.

Mr. Leber gave a brief update on the purpose of the meeting. Due to recent changes in IRS regulations, he will not be able to issue an opinion as to the tax free status of the recent bond sale. This being the case, he advises that the ordinance authorizing the bonds adopted October 23 would need to be rescinded. Rather than refunding the series 1989 bonds, Council will be able to proceed with a smaller issue to finance the new office facility. At some future date, should the market improve, a decision can be made as to the refunding of the 1989 bonds. Council will need to adopt a new Ordinance today in order to proceed with the financing. Settlement will take place on December 10.

Mr. Tricolli detailed the new proposal: bonds will be sold totaling \$1,535,000, twenty year term, at an average rate of 6.35 per cent.

Moved Mr. Schmitt, seconded Mr. DeHaas to adopt the Ordinance directing issuance of a series of General Obligation Bonds, series of 1992, in the amount of \$1,535,000. Yea: Mrs. Rice, Ms. Giles, Mr. Zellner, Mr. Ditzler, Mr. Troxell, Mr. Schmitt, and Mr. DeHaas. Nay: None. Absent from the meeting Jean Simpson and Margaret Gustafson. Motion carried unanimously.

With no further business the meeting was adjourned at 11:45 AM.

Respectfully submitted,

Sara L. Weaver Sara L. Weaver

Borough Secretary

BOND PURCHASE PROPOSAL

FOR

\$1,535,000

Borough of Gettysburg Adams County, Pennsylvania General Obligation Bonds, Series of 1992

November 16, 1992

BUTCHER & SINGER A DIVISION OF WHEAT, FIRST SECURITIES, INC.

November 16, 1992

Borough of Gettysburg 34 East Middle Street Gettysburg, PA 17325

Dear Ladies and Gentlemen:

Acting as Principal, Butcher & Singer, a Division of Wheat, First Securities, Inc. (the "Purchaser") submits herewith this proposal for the contemplated General Obligation Bonds, Series of 1992 (the "Bonds") of the Borough of Gettysburg, Adams County, Pennsylvania (the "Borough").

For all, but not part of the \$1,535,000 BOROUGH OF GETTYSBURG, General Obligation Bonds, Series of 1992, (the "Bonds"), bearing interest, maturing and in all other respects conforming to the attached scheduled material herewith made a part of this Proposal, we will pay \$1,513,510.00 (which includes an underwriter's discount of \$21,490) plus accrued interest noted on schedules attached.

This Proposal is made subject to the following conditions:

- 1. Prior to settlement, the Department of Community Affairs shall approve or shall be deemed to have approved the proceedings relating to the bond issue under provisions of the Pennsylvania Local Government Unit Debt Act.
- 2. The terms of the Ordinance to be adopted by the Borough at or before settlement shall be satisfactory to the Purchaser, and shall not have been repealed, amended or modified in any material respect, prior to settlement.
- 3. The settlement date for the Bonds shall be December 10, 1992 unless extended by mutual consent of all interested parties.
- 4. This Proposal will include accrued interest, if any, from the dated date of the Bonds to final settlement date.
- 5. Final payment by the Purchaser shall be in Federal Funds.

- 6. The Bonds shall be dated November 15, 1992 and the first interest payment shall be April 1, 1993 and semi-annually thereafter each April 1st and October 1st. The Bonds shall mature on October 1st in the years specified on the attached scheduled materials.
- 7. The Redemption Provisions shall be as follows:

Optional Redemption

The Bonds maturing on or after October 1, 1998 are subject to redemption prior to maturity at the option of the Borough, at par and accrued interest to the date fixed for redemption, in whole, or in part (and if in part, in such order of maturity as the Borough shall select and within a maturity by lot), at any time on or after October 1, 1997.

Mandatory Redemption

Bonds maturing on October 1, 2012 are subject to mandatory redemption in the amounts specified in the attached scheduled materials. The Bonds shall be redeemed on October 1st of each year from 2008 to 2011, by lot, in each case upon payment of a redemption price equal to the principal amount thereof, together with accrued interest to the redemption date.

- 8. The Bonds shall carry the unqualified approving legal opinion of Rhoads & Sinon, Harrisburg, Pennsylvania, Bond Counsel for the Borough. This Opinion shall state that the interest on the Bonds is not subject to present Federal or Pennsylvania State income taxes under existing statutes and decisions. Certain other legal matters will be passed on for the Borough by its Solicitor, Donald G. Oyler, Esquire, Gettysburg, Pennsylvania.
- 9. The Paying Agent shall be CCNB Bank, N.A., Camp Hill, Pennsylvania.

Borough of Gettysburg November 16, 1992 Page Three

- 10. This Proposal is subject to acceptance at the meeting of the Borough Council at which it is presented.
- 11. The Purchaser may terminate this Proposal if at any time prior to settlement: (1) Federal legislation or a court decision or regulation shall be adopted which in its terms, by the repeal or omission of exemptions or otherwise, makes the interest on the Bonds subject to federal income tax, or (2) there shall exist any event or circumstances which either makes untrue or incorrect in any material respect the Official Statement, or constitutes information that should be reflected therein, or (3) there shall have occurred any outbreak or continuation of hostilities or other local, national or international calamity or crisis, the effect of such outbreak, calamity or crisis on the financial markets of the United States being such as, in the Purchaser's reasonable judgment, would make it impracticable for it to market the Bonds or enforce contracts for the sale of Bonds, or (4) there shall be in force a general suspension of trading on the New York Stock Exchange or minimum or maximum prices for trading shall have been fixed and be in force, or maximum ranges for prices for securities shall have been required and be in force on the New York Stock Exchange, whether by virtue of determination by the exchange or by order of the Securities and Exchange Commission or any other governmental Borough having jurisdiction.
- 12. The Purchaser may terminate this Proposal if at any time prior to settlement any litigation, suit or other proceedings are initiated, pending or threatened in any state or federal court, agency, department or other tribunal in any way (a) seeking to restrain or enjoin the issuance, sale or delivery of the Bonds; (b) questioning or affecting (i) the power and Borough of the Borough to issue the Bonds; (ii) the validity of the Bonds, the Ordinance or the proceedings of the Borough relating to the issuance, sale or delivery of the Bonds; (c) challenging the power and Borough or authorization of the Borough to undertake the capital projects for which the Bonds are to be issued; or (d) contesting in any way the completeness or accuracy of the Preliminary Official Statement or the Official Statement.

Borough of Gettysburg November 16, 1992 Page Four

- 13. (a) To the extent it has the legal power to do so, the Borough will indemnify and hold harmless the Purchaser against losses, claims, damages or liabilities to which the Purchaser may become subject insofar as they arise out of or are based upon an untrue statement or alleged untrue statement of a material fact contained in the Official Statement of the omission or alleged omission to state therein a material fact required to be stated therein or necessary to make the statements therein not misleading: provided, however, that the Borough shall not be liable to the extent that any such statement or omission was made in reliance upon and in conformity with written information furnished to the Borough by the Purchaser expressly for use therein. The Borough will reimburse the Purchaser for any legal or other expenses reasonably incurred by them in connection with investigating or defending any such action or claim.
 - (b) The Purchaser will indemnify and hold harmless the Borough against any losses, claims, damages or liabilities to which the Borough may become subject insofar as they arise out of or are based upon an untrue statement or alleged untrue statements of a material fact contained in the Official Statement or the omission of alleged omission to state therein a material fact required to be stated therein or necessary to make the statements therein not misleading; provided; however, that the Purchaser shall not be liable to the extent that any such statement or omission was made in reliance upon and in conformity with written information furnished to the Purchaser by the Borough expressly for use therein. The Purchaser will reimburse the Borough for any legal or other expenses reasonably incurred by it in connection with investigating or defending any such action or claim.
 - (c) An indemnified party shall promptly notify the indemnifying party in writing of the commencement of an action. After notice is given, the indemnifying party shall be entitled to assume the defense thereof with counsel reasonably satisfactory to the indemnified party. Thereafter, the indemnifying party shall not be liable to the

Borough of Gettysburg November 16, 1992 Page Five

> indemnified party in connection with the defense thereof other than reasonable costs of investigation incurred with the consent of the indemnifying party.

If the indemnification of the Borough or the Purchaser (d) provided in this Section 13 is not permitted by applicable law, then the indemnifying party shall instead contribute to the amount paid or payable by the indemnified party in the proportion appropriate to reflect the relative benefits received by the Borough on the one hand and the Purchaser on the other from the offering of the bonds. If this allocation is not permitted by applicable law or if the indemnified party failed to give the notice required under subsection (c) above, then the indemnifying party shall contribute to such amount in the proportion appropriate to reflect not only such relative benefits but also the relative fault of the Borough on the one hand and the Purchaser on the other in connection with the statements or omissions that resulted in losses, claims, damages or liabilities, as well as any other relevant equitable considerations. The relative benefits received by the Purchaser on the one hand and the Borough on the other shall be deemed to be in the same proportion as the total underwriting discounts and commissions received by the Purchaser bears to the total net proceeds from the offering (before deducting expenses) received by the Borough. The relative fault shall be determined by reference to, among other things, whether the untrue or alleged untrue statement of a material fact or the omission or alleged omission to state a material fact relates to information supplied by the Borough or the Purchaser and the parties relative intent, knowledge, access to information and opportunity to correct or prevent such untrue statement or omission. The Borough and the Purchaser agree that it would not be just and equitable if such contribution pursuant to this subsection (d) were determined by pro rate allocation or by any other method of allocation that does not consider the equitable considerations referred to in this subsection (d). amount paid or payable by an indemnified party pursuant to this subsection (d) shall include any expenses

Borough of Gettysburg November 16, 1992 Page Six

reasonably incurred by such indemnified party in connection with investigating or defending any action or claim. Notwithstanding the provisions of this subsection (d), the Purchaser shall not be required to contribute any amount in excess of the amount by which the total price at which the Bonds distributed to the public where offered to the public exceeds the amount of any damages that the Purchaser have otherwise been required to pay by reason of such untrue or alleged untrue statement or omission or alleged omission. No person guilty of fraudulent misrepresentation shall be entitled to contribution from any person who was not guilty of such fraudulent misrepresentation.

- 14. The Purchaser is authorized to use the Official Statement in connection with the public offering and the sale of the Bonds.
- 15. Delivery of a certificate at settlement by the appropriate officials of the Borough that the Official Statement, dated November 16, 1992 does not, to the best of their knowledge, contain any untrue statement of a material fact or omit to state a material fact required to be stated therein or necessary to make the statements therein, in light of the circumstances under which they were made, not misleading.
- 16. The Bonds shall be in registered form, without coupons, in \$5,000 denominations, or integral multiples thereof as requested by the Purchaser.

Borough of Gettysburg Page Seven November 16, 1992

17. The Bonds shall have received a rating of "Aaa" by Moody's Investors Service, Inc. and "AAA" by Standard & Poor's Corporation reflecting the issuance of a new issue municipal bond insurance policy from Municipal Bond Investors Assurance Corporation.

Very truly yours,

BUTCHER & SINGER

James J. Tricolli

Associate Vice President

Oh behalf of:

Butcher & Singer

A Division of Wheat, First Securities, Inc.

This Proposal for \$1,535,000 BOROUGH OF GETTYSBURG, General Obligation Bonds, Series of 1992, by Butcher & Singer, a Division of Wheat, First Securities, Inc. is accepted this 16th day of November, 1992.

BOROUGH OF GETTYSBURG

By Jeans Simpson President of Council

Attest Jana L. Wedver Secretary

JJT/wch

Butcher & Singer		Schedule 1
Bc in of Gettysburg Ge il Obligation Bonds, Series of 1992 Soul as & Uses of Funds		15-Nov-92

ASSUMPTIONS		
Dated Date		15-Nov-92
Settlement Date		10-Dec-92
Rating		"Aaa/AAA"
USES OF FUNDS		
Capital Projects		1,438,000
Estimated Bond Insurance Premium		20,000
Financing Costs (1)		81,790
Rounding		2,964

Total Uses of Funds		1,542,754
SOURCES OF FUNDS		
General Obligation Bonds, Series 1992	1,535,000	
LESS: Original Issue Discount	0	
Net Bond Proceeds		1,535,000
Construction Fund Earnings		7,754
**		
\ \ Sources of Funds		1,542,754
(1) sludes the following:		
(1) Studes the following:		
Bond Discount	21,490	
Legal	32,000	
Official Statement Printing	12,500	
Bond Printing	3,000	
Moody's	4,200	
Standard & Poor's	3,600	
Verification	0	
Trustee	2,000	
Miscellaneous	3,000	
Total Financing Costs	81,790	

Byther & Singer

Schedule 2

F igh of Gettysburg

G al Obligation Bonds, Series of 1992

Co. cruction Fund Earnings

				Interest	
	Beginning		Funds	Earnings 2	Ending
Date	Balance	Draw	Available	2.60%	Balance
10-Dec-92	1,430,246		1,430,246	1,549	1,431,796
Jan-93	1,431,796	(287,600)	1,144,196	2,479	1,146,675
Feb-93	1,146,675	(287,600)	859,075	1,861	860,936
Mar-93	860,936	(287,600)	573,336	1,242	574,578
Apr-93	574,578	(287,600)	286,978	622	287,600
May-93	287,600	(287,600)	0	0	0
Jun-93	0	, -	0	0	0
ä		(1,438,000)		7,754	

Bc h of Gettysburg

Ger l Obligation Bonds, Series of 1992

Deb. Service Summary - Series 1992 Bonds 15-Nov-92

Date	Principal	Coupon	Interest	LESS: Accru ed Interest	Total D/S	Annual D/S	Existing Annual D/S	Combined Annual D/S
01-Apr-93			33,171	(6,098)	27,073			
01-0ct-93	25,000	2.85%	43,903		68,903	95,976	210,225	306,201
01-Apr-94			43,546		43,546			
01-0ct-94	25,000	3.50%	43,546		68,546	112,093	211,025	323,118
01-Apr-95			43,109		43,109			
01-0ct-95	225,000	4.00%	43,109		268,109	311,218	211,450	522,668
01-Apr-96			38,609		38,609			
01-0ct-96	25,000	4.30%	38,609		63,609	102,218	211,490	313,708
01-Apr-97	-		38,071		38,071			
01-0ct-97	15,000	4.60%	38,071		53,071	91,143	211,178	302,320
01-Apr-98			37,726		37,726	*** ***		710 015
01-0ct-98	25,000	4.80%	37,726		62,726	100,453	210,463	310,915
01-Apr-99			37,126		37,126	00 057	200 775	700 F00
01-0ct-99	25,000	5.00%	37,126		62,126	99,253	209,335	308,588
01-Apr-2000	70.000	E 208	36,501		36,501	107 007	207 975	710 979
01-0ct-2000	30,000	5.20%	36,501		66,501	103,003	207,835	310,838
01 -2001	25 000	E /04	35,721		35,721 40,721	04 //3	210 005	307,348
01 -2001	25,000	5.40%	35,721		60,721	96,443	210,905	307,348
	70.000	5.60%	35,046 35,046		35,046 45,046	100,093	207,970	308,063
01 c-2002 01-Apr-2003	30,000	3.60%	35,046 34,206		65,046 34,206	100,093	201,910	300,003
01-Apr-2003	30,000	5.80%	34,206		64,206	98,413	209,690	308,103
01-001-2003 01-Apr-2004	30,000	3.60%	33,336		33,336	70,413	207,070	300,103
01-Apr-2004 01-Oct-2004	35,000	6.00%	33,336		68,336	101,673	210,720	312,393
01-Apr-2005	35,000	0.00%	32,286		32,286	101,075	210,120	312,373
01-0ct-2005	35,000	6.10%	32,286		67,286	99,573	211,060	310,633
01-Apr-2006	33,000	0.10%	31,219		31,219	,,,,,,	2.17000	5.0,000
01-Oct-2006	35,000	6.15%	31,219		66,219	97,438	210,410	307,848
01-Apr-2007		0.15%	30,143		30,143	,,,,,,,,	2.0,	,
01-0ct-2007	40,000	6.25%	30,143		70,143	100,285	209,050	309,335
01-Apr-2008	40,000	CILIA	28,893		28,893	,	200,000	,
01-Oct-2008	45,000	6.35%	28,893		73,893	102,785	206,980	309,765
01-Apr-2009	,	0.00.0	27,464		27,464	,	,	
01-Oct-2009	40,000	6.35%	27,464		67,464	94,928	214,200	309,128
01-Apr-2010	107000	0.000.0	26,194		26, 194			
01-Oct-2010	260,000	6.35%	26,194		286, 194	312,388	0	312,388
01-Apr-2011			17,939		17,939		,=:	and Adaptive 🕶 (1885)
01-Oct-2011	275,000	6.35%	17,939		292,939	310,878	0	310,878
01-Apr-2012			9,208		9,208	•		
01-0ct-2012	290,000	6.35%	9,208		299,208	308,415	0	308,415
	1,535,000		1,309,758	(6,098)	2,838,661	2,838,661	3,573,985	6,412,646

Original D/S 2,873,154

Savings (34,493.40)

Butcher & Singer	YIELD
Cr \ation of Arbitrage Yield - 1992 Bonds	
Trial Yield:	6.2644%
Accrued Interest	6,097.57
Series 1992 Bonds	1,535,000.00
Less: OID	0.00
Less: Insurance	(20,000.00)
Net Proceeds For Yield Purposes	s 1,521,097.57
PV D/S at Trial Yield	1,521,097.57
Difference	(0.00)

Date	6 Mo	Factor	D/S	PV D/S
01-Apr-93	0.62	0.98116	33,171	32,546
01-0ct-93	1.62	0.95136	68,903	65,551
01-Apr-94	2.62	0.92247	43,546	40,170
01-0ct-94	3.62	0.89445	68,546	61,311
01-Apr-95	4.62	0.86729	43,109	37,388
01-0ct-95	5.62	0.84095	268,109	225,466
01-Apr-96	6.62	0.81541	38,609	31,482
01-0ct-96	7.62	0.79064	63,609	50,292
01-Apr-97	8.62	0.76663	38,071	29,187
01-0ct-97	9.62	0.74335	53,071	39,450
\pr-98	10.62	0.72077	37,726	27, 192
1ct-98	11.62	0.69888	62,726	43,838
pr-99	12.62	0.67766	37,126	25,159
Jct-99	13.62	0.65708	62,126	40,822
01-Apr-2000	14.62	0.63712	36,501	23,256
01-Oct-2000	15.62	0.61777	66,501	41,083
01-Apr-2001	16.62	0.59901	35,721	21,397
01-Oct-2001	17.62	0.58082	60,721	35,268
01-Apr-2002	18.62	0.56318	35,046	19,737
01-Oct-2002	19.62	0.54607	65,046	35,520
01-Apr-2003	20.62	0.52949	34,206	18,112
01-Oct-2003	21.62	0.51341	64,206	32,964
01-Apr-2004	22.62	0.49781	33,336	16,595
01-Oct-2004	23.62	0.48270	68,336	32,986
01-Apr-2005	24.62	0.46804	32,286	15,111
01-Oct-2005	25.62	0.45382	67,286	30,536
01-Apr-2006	26.62	0.44004	31,219	13,737
01-Oct-2006	27.62	0.42667	66,219	28,254
01-Apr-2007	28.62	0.41372	30,143	12,470
01-Oct-2007	29.62	0.40115	70,143	28,138
01-Apr-2008	30.62	0.38897	28,893	11,238
01-0ct-2008	31.62	0.37715	73,893	27,869
01-Apr-2009	32.62	0.36570	27,464	10,044
01-Oct-2009	33.62	0.35459	67,464	23,922
01-Apr-2010	34.62	0.34382	26,194	9,006
01-Oct-2010	35.62	0.33338	286,194	95,412
01-Apr-2011	36.62	0.32326	17,939	5,799
0 t-2011	37.62	0.31344	292,939	91,819
0' r-2012	→ 38.62	0.30392	9,208	2,798
01 t-2012	39.62	0.29469	299,208	88,174
		-		

2,844,758 1,521,098

B gh of Gettysburg

G al Obligation Bonds, Series of 1992 Dec. Service Summary - Series 1992 Bonds

ORIGINAL DEAL 28-Oct-92

					Ì	LESS:		
		Coupon				Accrued	Total	Annual
Date	Principal	Or Yield	Price	Proceeds	Interest	Interest	D/S	D/S
01-Apr-93					37,142	(5,695)	31,447	
01-0ct-93	25,000	2.80%	100.00%	25,000	44,570		69,570	101,017
01-Apr-94					44,220		44,220	
01-0ct-94	25,000	3.50%	100.00%	25,000	44,220		69,220	113,440
01-Apr-95					43,783		43,783	
01-0ct-95	225,000	4.00%	100.00%	225,000	43,783		268,783	312,565
01-Apr-96					39,283		39,283	
01-0ct-96	25,000	4.30%	100.00%	25,000	39,283		64,283	103,565
01-Apr-97					38,745		38,745	
01-0ct-97	25,000	4.60%	100.00%	25,000	38,745		63,745	102,490
01-Apr-98					38,170		38,170	
01-0ct-98	20,000	4.80%	100.00%	20,000	38,170		58,170	96,340
01-Apr-99					37,690		37,690	
01-Oct-99	20,000	5.00%	100.00%	20,000	37,690		57,690	95,380
01-Apr-2000					37,190		37,190	
0 t-2000	30,000	5.20%	100.00%	30,000	37,190		67,190	104,380
01 ~-2001					36,410		36,410	
P	35,000	5.40%	100.00%	35,000	36,410	9	71,410	107,820
0pr-2002					35,465		35,465	
01-Oct-2002	30,000	5.60%	100.00%	30,000	35,465		65,465	100,930
01-Apr-2003					34,625		34,625	
01-Oct-2003	30,000	5.75%	100.00%	30,000	34,625		64,625	99,250
01-Apr-2004					33,763		33,763	
01-0ct-2004	30,000	5.90%	100.00%	30,000	33,763		63,763	97,525
01-Apr-2005					32,878		32,878	
01-Oct-2005	35,000	6.00%	100.00%	35,000	32,878		67,878	100,755
01-Apr-2006					31,828		31,828	
01-0ct-2006	40,000	6.15%	100.00%	40,000	31,828		71,828	103,655
01-Apr-2007					30,598		30,598	
01-0ct-2007	40,000	6.25%	100.00%	40,000	30,598		70,598	101,195
01-Apr-2008					29,348		29,348	
01-0ct-2008	45,000	6.45%	100.00%	45,000	29,348		74,348	103,695
01-Apr-2009					27,896		27,896	
01-Oct-2009	40,000	6.45%	100.00%	40,000	27,896		67,896	95,793
01-Apr-2010					26,606		26,606	
01-Oct-2010	260,000	6.45%	100.00%	260,000	26,606		286,606	313,213
01-Apr-2011					18,221		18,221	
01-Oct-2011	275,000	6.45%	100.00%	275,000	18,221		293,221	311,443
01-Apr-2012					9,353		9,353	10
01-0ct-2012	290,000	6.45%	100.00%	290,000	9,353		299,353	308,705
gener .	1,545,000		,	1,545,000	1,333,849	(5,695)	2,873,154	2,873,154

Proof of Publication of Legal Notice

Under provisions of "Newspaper Advertising Act" of Pennsylvania and its Supplements.

STATEMENT

It is hereby stated and declared that The Gettysburg Times is a daily newspaper as defined under the "Newspaper Advertising Act" of the Commonwealth of Pennsylvania approved May 16, 1929, and its several supplements and amendments, published at its place of business in the Borough of Gettysburg, Adams County, Pennsylvania, and is of general circulation throughout said County. That it was established in the year 1902 and has been issued regularly and continuously circulated and distributed from its established place of business daily, from the date of its establishment to the present time; that said newspaper is owned and published by The Times and News Publishing Company, a corporation organized and existing under the laws of the State of Pennsylvania.

corporation organized and existing That a legal notice, a true co published and appeared in the reg	under the laws of the py of which exactly	as printed and publis	nia. hed, is securely attached hereto, was
	and expenses, includ	1, 1992 ing the fee for the aff	idavit to this proof of publication have
	-	Advertisi	ng Clerk nd News Publishing Company
Commonwealth of Pennsylvania County of Adams			
			9.92, before me, the subscriber, a
			named Karen S. Thoricht
			law on his oath doth depose and say
Copy of notice of publication	officer duly autho	rized by resolution of	ng Company, a corporation, and is an the Board of Directors of said corpora- nd this affidavit on its behalf; that the
NOTICE NOTICE IS HEREBY GIVEN that the Borough Council of the Borough of Gettysburg, Adems County, Pennsylvania, with hold a spicial meeting on Friday, October 23, 1992, beginning at 3:30 P.M., prevailing time, in the Council Chambers, Borough Building, 34 East Middle Street, Gettysburg, Pennsylvania. BY ORDER OF THE COUNCIL OF THE BOROUGH OF GETTYSBURG, ADAMS COUNTY, PENNSYLVANIA	affiant is not intereferred to in the fire foregoing state therein referred to the fire foregoing state therein referred to the day and year. My commission	rested in the subjectoregoing statement and tement as to the time of are true. I subscribed before maforesaid. Notary Public fon expires	t matter of the notice or advertising ad that all of the allegations contained in e, place and character of publication Lea Advertising Clerk
	To Times and Ne	ttysburg Times ws Publishing Compa tice or advertisement	
		dates	
			\$ 6,00
	Total		\$ 16.83
Publi	sher's Receipt	for Advertising	g Costs
hereby acknowledges receipt of the a	ompany, a corporation of the cor	on, publisher of the C and publication of cost	Gettysburg Times, a daily newspaper, is and certifies that the same have been
fully paid.		a corpo The	ews Publishing Company, pration, publisher of Gettysburg Times, laily newspaper.
		В	у
			Its

No. ADAMS COUNTY, PENNSYLVANIA

Proof of Publication

Attorney

Filed 19......